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The figures in the gg,argih indicate full marks for the questions

1. (@) Simplify (3R IE) : ) ¥ ' H
10c6 +1OC7 +11c8

(b) For what value of x the matrix

A_Sx ¢
|2 4]

will be singular? : 1
x-<F I &1 e
~ A B %
-2 4
S2fST 3 2
(c) Evaluate (Y= e ) : | | ..

9. =3 7, =1
X
4 -1 =3 2

(d) If a dice and a coin are thrown simultaneously, write down the
sample space. 1

3% g @b ¢ 9l J@ wFeE et Fae o aford SRl e |
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(e) If SD of xl,xz,---,xn- be o, what will “Jbes. SB " of
2x1+5,2x0+5,:-,2x, +57? )

X1, Xg, *++, Xp -9 W RO o TA 2x7 + 5, 2%9 + 5.+, 2x,, +5-¢¥
T {905 T 2(J 2
(f/ * Which of the followihg is affected by extreme values? 1
e @ sieft v Tew T aeifRe 2y
(i) Arithmetic mean
IABL T147
(i) Median
T
(i) Mode
qRETE

(9) Write down the formula of amount (4) on principal (P) for (n)
years @ r % p.a. compounded monthly. 1

?ﬁ%’r%@?ﬁmﬁﬁﬂﬁ?ﬁﬁﬂww)‘ﬁw@m (n) IS
S SfaTel (A) FefeEs @ @ |

(h) {34€{3 457

Whether the above statement is true or false? 1. s
ST SRS 3797 1 STy 2 '
2. Answer the following questions : ° . 2x5=10
afiRe ayaftm Ser me

(@) 1f U% =2.25, 62 =1, cov(x, y) =0-9, then find the value of r.:
yn

M 0% =2-25, 05 =1, cov(x, y) = 0-9, S r-7 T T T |

(b) Find mean deviation about median of the following data :
RS S w2 @ 1w Reem R e
wt (8&d) (kg) 3, 4, 8, 10, 12
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(c) In the determinant given below, what are the minor and
cofactor of the element —2? ‘

- Fafifie e -2 CeeT oI 8 TR 2T 2

S 4 -3
6: 2

8 -1 6
(d) Find x and y, if
x\Gy-LﬂﬁWﬁ@W,ﬂﬁ

8 x+y| |3 -3
xi—y 4 Ta7. 4
(e) Find the weighted AM of 1, 2, 3,4 with corresponding weights
4, 3, 2 and 1 respectively.

1, 2, 3, 4 @2 AMGRR ©7 W 4, 3, 2, 1 A YA OIS 5T [Af
T | '

3. Answer any five parts of the following : 3x5=15 .
s @ e #ivh 1w Teg e

(@) If (3F)
A={2 4,56}
B={3 4,69 10}
C={26710

find (g )
i) A-(BnNC)
(i) C-(A-B)

(b) Form a matrix A of order 3 x 2, where
3 x 2 WiaR 93 (e A fefa v, @iE

;=
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(c) Prove that (19 I @)

—a2 ab ac

ab b2  be|= 4a2p2c2
ac be -c?

(d) AM and GM of any two positive numbers are 10 and 8
respectively, Find the two numbers.

ﬁwmﬁ\wwe@?wmmm 10e8mmm\1ﬁﬁ=ﬁ
FEM1 -

(e) Two dice are thrown 81mu1ta11eously Find the probability of
getting an odd number on one dice and an even number on
the other.

ﬁﬁﬁﬁﬁﬂWﬁWﬂWW|mqm@ﬁrwﬁmeW
I RYT AL T fely e |

(f) Each side of a square field is of length 100 meters. A cyclist
covers the four sides at speed of 50 meters, 20 meters,.
10 meters and 25 meters per hour respectively. Find his
average speed.

aﬁaﬁamﬁmt&sﬁmoﬁ%ﬁuﬁwww&
Az o4f 9w @@ 50 Rbw, 20 M@, 10 Rom € 25 fm s
vﬂ\—@aw—ﬁ%ﬁmﬁmﬁq‘nmu

4. Prove that (299 91 @)

_2a a—b—-c 2a
2b . 2b b-c-a|=(a+b+0d3
c—a—-b 2c 2e |
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Or /9241

Solve by using Cramer’s rule :
CHFIEA AmMSCe AL FCAT

2x—-3y=5

4y+52=06

6x+ 7z = 20

,
5. Using mathematical induction, prove that

sNfAfeT SICP ©rgd AR AT FC

nn+1ln+2)

1.242-3+3-44-+nn+l)= >

6. Fmd the coefficient of x~ 17 in
[ A 1 )15
x ' )
1 15
[xd' é-—4] PO x 17 - ag et Fefq <o |
x . '

Or /=31

If in the expansion

’ 6
x

the coefficient of x3 is 160, then find the value of k.

qﬁ

: 6
(4
X

Rregfire x3-an 723l 160 2, Ore fe-ad i Fefa T |
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7. How many numbers less than 700 may be formed by using the

digits 3, 4, 5, 6, 7, 87 _ S
3, 4, 5, 6, 7, 8 4% TFAIE YT F¢A 700 (AF (2B FAG 3RAN CSAF
T @ATS A ?
8. Find r from the following data : : | S
R wram fSfere r-aa 9 eF 353 - '
o o M6 20 4o 4 8

Y 5490 S Eh ey 7

9. A man deposited Rs 400 every ‘year in a fund at 3% p.a.
- compounded annually. After some years he received Rs 4,064 as
amount from the fund. Find the number of years. S

GFE ¥ T=CA 3% TF3f@ R AE Al ,,[F@Trwzmo?:mww
Facel PR q=F oW rEETE 4,064 B AW | O $e ImeRg w0 B wm
@R, Ffa s

10. There are 20 pens out of which 5 are defective, 3 pens are picked at
random. Find the probability of selecting—

() all defective pens; '

(i) exactly 1 defective pen. ' . _ S

zoﬁwﬁsﬁwmuﬂﬁmcwsﬁwm HCA—
(i) R TG A T S,
(i) T T A T A
‘-ﬂ@rﬁﬁrﬁ{ﬁﬁw‘my
Or /=%

2 cards are drawn from a pack of cards. Find the probability of
getting 2 cards of same colour.

nssasﬁ‘,—mrvnmﬁ;cw zﬁ‘mwmmlzﬁaﬁm@awmﬂ@ﬁ—r
Refa s 1
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11. Write down the definition of sinking fund and perpetuity. The
difference between simple and compound interest on a certain
sum of money for 3 years at 5% p.a. is Rs 213-50. Find the
principal, simple interest and compound interest. 2+6=8

TS e e AR I @l | @l ol Jeaen et T
5% e 3 IVCT T a8 TIfE qoE AIdw 213:50 H @ g,
T I GRS I e el |

12. (@) Draw the graph of the following linear inequalities : 4+4=8
FafiRe wererst fia c@m ova foacem (ar) m%ﬂ?ﬂﬂaw
(i) x+2y<10
X+Yy. 21
y<4
Xy 20 :
Or /941
[ 2x+yz4 :
3x+5y =15
xy=0

(b) Prove that (e ¢ @) : 2"P, = 2™{1.3.5..-- 2n — 1)}

. 13 (a} From the following data, find f; and f; if AM of the following

distribution. is 72:5 marks : _ 6
frafafe SR s Mg 725 79 = £ @ fip Refy e
Marks . No. of Students
(779) (=TT 31330)
30-39 2
40-49 3
50-59 11
60-69 fa
70-79 - EEo
80-89 f2
90-99 7
Total (CS1G) = 100
(b) Write two demerits of mode. e w2

I (Cme) it seifayrE e Sy w e |
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14. (a) If mean deviation for a group of 50 items is 16 2, what will
be their SD? 1

50 SR v Roe 162 wmwﬁwwmv

(b) Write four properties of a good measure of dispersion. 2

ﬂﬁ‘ﬂmﬁtﬁﬁﬁﬂﬁﬂmﬁﬂﬁﬁ?m%ﬂml

(c) From the following data, find standard deviation and CV : S
IR 92 (3T T [{oerm @ Rvgar @ e e

X~ %.100 1 12 13 14 15 “i16

o A U O B T 5 i ple” S
Or /%41
Find quartile deviation from the following data :
afe o (3F veRre [Rvem Py <
Height (in cm) ., Frequency
(Twer) (3r733190@r)
25-35 2
35-45 10
45-55 25
95-65 16
65=75 7y -
* k&

C13—1000/9A | 23 T—CMST/(Bengali)



